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Q.1
MCQs (Attempt on OMR sheet)






[1x20]
1.
A 15 year old boy fell from a cliff of mountain while trying to take a a picture. During the fall he got hold of a tree branch with his right hand and was rescued after almost 10 hours. He developed hyperextension at metacarpo-phalangeal joints and flexion of digits of his right hand. Which spinal nerve roots are affected?

a. C5 and C6



b.
C6 and C7

c.
C8 and T1



d.
T1 and T2

2.     A 2 year old child presented with extended and pronated arm with inability to bend elbow or hold forearm in supination. On taking history, parents described that during his birth it was very difficult normal delivery and doctors had to pull the hand out before the delivery of head. The nerves of brachial plexus involved in this case is:

a.
Upper trunk 



b.
Middle trunk 

c.
Lower trunk



d.
Medial cord

3.    A person presents with difficulty in flexion of elbow. Which of the following nerves is involved?

       a.
Ulnar




b.
Radial

       c.
Musculocutaneous


d.
Median

4.     A woman comes to OPD with complaint of difficulty to hold a glass in her left hand. The nerve involved is:

a.
Ulnar 



b.
Radial

c.
Musculocutaneous

d.
Median

5.     A young swimmer presented with severe pain over lateral part of his right elbow. The pain was pin pointed at tip of right epicondyle. The condition is due to:

a.
Tennis elbow


b.
Damage to common flexor origin

c.
Supracondylar fracture
d.
Rupture of supraspinatus tendon

6.     A 60 year old lady presented with abnormal sensation in her left thumb, index and middle fingers. She also complained of increased nocturnal pain. Which nerve is affected in this condition?

a.
Radial



b.
Ulnar

c.
Median


d.
Musculocutaneous 

7.
A person with crutches presented with loss of rounded contour of shoulder and difficulty in abduction of shoulder upto horizontal level. The nerve affected is:

a.
Axillary


b.
Radial

c.
Ulnar



d.
Median
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8.
A fifty year old woman presented with inability to extend the wrist and the fingers at the metacarpo-phalangeal joints. On examination, it was observed that her relaxed wrist was positioned in partly flexed position. The condition was due to :

a.
unopposed tone of flexor muscles of forearm
b.
unopposed tone of extensor muscles of forearm

c.
unopposed tone of flexor muscles of hand
d.
unopposed tone of extensor muscles of hand

9.
A 28 year old man presented with pulsating exophthalmos. Diagnosis of thrombosis of cavernous sinus was made. There was history of boil in the upper lip region which he had drained himself. The vein which might have transmitted the infection to cavernous sinus is :

a.
maxillary vein



b.
anterior ethmoidal vein

c.
posterior ethmoidal vein

d.
deep facial vein

10.   A patient present with inability to open the mouth. Which of the following muscles is damaged?
      
 a.
Medial pterygoid


b.
Temporalis

     
c.
Lateral pterygoid


d.
Masseter 

11.   A 30 year old presents with history of road traffic accident and fracture to right orbital region. Which wall of orbit is least likely to get fractured? 

a.
lateral




b.
medial 

c.
roof 




d.
floor

12.
During trans-basilar surgical approach for intervention in foramen magnum region, which of the following structures is not at risk of inadvertent cut?

a.
Accessory pharyngeal artery

b.
Vertebral artery

c.
Spinal accessory nerve

d.
Vertical band of cruciate ligament

13.
A patient is admitted to ICU due to symptoms of raised intracranial tension. Which of the following cranial nerves is most commonly likely to be involved?

a.
5th




b.
6th

c.
7th 




d.
11th 
14.
During thyroid surgery both recurrent nerves are damaged. Which of the following muscles of larynx will escape paralysis?

a.
Posterior Cricoarytenoid

b.
Lateral Cricoarytenoid

c.
Cricothyroid



d.
Vocalis 

15.
During surgery in the infratemporal region, anterior division of mandibular nerve gets cut. The muscle of mastication which will escape getting paralysed is: 

a.
Lateral pterygoid


b.
Medial pterygoid

c.
Masseter



d.
Temporalis 

16.
A 56 year old woman presented with dryness of the mouth. On examination, physician found that there was lack of salivary secretion from the submandibular gland. This indicates a lesion of which of the following nervous structures?

a.
Greater petrosal nerve


b.
Chorda tympani 

c.
Superior cervical ganglion

d.
Lesser petrosal nerve

17.
A 56 year old man came with a large painful swelling in the middle of the left posterior triangle of the neck. The physician examined and found an abscess which he incised and drained. Few days later the patient noticed that he could not move his left arm above head to brush hair. Which of the following is the likely cause for the harm:

a.
Injury to Scalenus medius muscle
b.
Injury to Suprascapular nerve

c.
Injury to spinal part of accessory nerve
d.
Spread of infection to shoulder joint
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18.
A twenty year old boy undergoes tonsillectomy. After 15 days he came back with symptoms of  persistent throat pain radiating to the ear . It is due to:

a.
Persistent infection


b.
Injury to IX cranial nerve

c.
Injury to X cranial nerve

d.
Injury to Eustachian tube

19.
A forty year old lady was admitted in hospital for treatment of   intraorbital tumor in right orbit. The tumor was pressing upon oculomotor nerve. All of the following are going to be affected in right eye except:

a.
Accommodation of  eye

b.
Elevation of upper eyelid

c.
Abduction of  the eye


d.
Constriction of  the pupil

20.
A patient came to OPD with complaints of inability to raise the left arm above 90 degrees. On examination, medial border of his left scapula was very prominent. Which of the following nerves is involved?

a.
Ulnar nerve



b.
Median nerve

c.
Spinal accessory nerve

d.
Long thoracic nerve
Q.2 .
Describe the mammary gland under following headings:-    

       
[4x3]

a. 
Structure, location and blood supply

b.
Lymphatic drainage
c.
Applied aspect
Q. 3.
Write short notes on:                                                                      


 [5x4]

a.
Microanatomy of parotid gland
b.
Microanatomy of cornea
c.
Contents of Carotid sheath
d.
Claw hand
Q.4. 
Explain why:                                     
                                                     

  [3x5]   

a.
The anatomical basis of pin point pupil, hyperpyrexia and hemiplegia seen in a case of pontine haemorrhage
b. 
The venae commitantes accompany the arteries
c.
There is reflex cough on cleaning the external auditory meatus with a swab
d.
There is bluish-black discoloration of the eye after blunt injury on the forehead
e.
Cadaver is the best teacher
Q.5.  
Write short notes on:                 
                       




[6x3]   

a.
Embryological basis of the nerve supply of tongue
b.
Describe the connections of the Pterygopalatine ganglion
c.
Discuss the various sensations carried by dorsal column
Q.6.
Write short answer: 








[5x3]   
a.
Summarize the constituent fibers of middle cerebellar peduncle
b.
Draw a well labeled diagram showing the arterial supply of Palatine tonsil
c.
Blood supply of long bone
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[1x20]

1.
A 60-year old patient came to OPD with history of chronic cough. He complained that he noticed a gradually increasing swelling in his left groin and feels pain at that site. On physical examination, the clinician noticed a small lump just above the pubic tubercle on the left side. The clinician reduced the swelling and occluded the deep inguinal ring. The swelling reappeared medial to the thumb when the patient was asked to cough. Which of the following is the most likely diagnosis?

a.
Direct inguinal hernia 


b.
Indirect inguinal hernia 

c.
Femoral hernia



d.
Lumbar hernia 

2. A 60 –year old female complained that from past few weeks she is feeling a sensation of something coming down into the vagina. Also she had complaints of dribbling of urine on forceful coughing. On per vaginal examination, the gynaecologist observed the descent of cervix into vagina. She was diagnosed as a case of uterovaginal prolapse resulting due to weakness of structures supporting uterus. Which of the following is a primary support of uterus?

a.
 Pelvic diaphragm



b.
 Broad ligaments 

c.
Uterovesical fold of peritoneum 

d.
Rectovaginal fold of peritoneum 

3. A 50-Year old male came to emergency with complaints of pain in the left side of the chest alongwith profuse sweating. The pain radiated along the medial side of the left arm and forearm. He further gave the history that such symptoms aggravated on exertion like climbing stairs and relieved after resting. He made a diagnosis of angina pectoris. The fibers for the referred pain to medial side of arm and forearm are carried by which of the following spinal segments?

a.
 T1-T5 segments of spinal cord 

b.
 T6-T7 segments of spinal cord

c.
T7-T8 segments of spinal cord 

d.
T9-T10 segments of spinal cord 

4.  An eleven month old baby presented with the complaints of shortness of breath. On examination, he showed features of a round face, macroglossia, epicanthic folds in the eyes, shorter limbs, single transverse palmar crease, poor muscle tone, slanting palpebral fissure. He was diagnosed as a case of Down’s syndrome.  Which of the following is the karyotype  of the patient?

a.
47, XX





b.
45XO

c.
46XX





d.
47, XXY

5. A bus conductor complains of swelling in the veins of the leg. He further noticed that on standing for long hours, the veins enlarge and become bluish in colour. Analyse on the basis of anatomical knowledge what could be the probable underlying reason?

a.
Popliteal cyst 




b.
Bursitis

c.
Varicose veins 



d.
Popliteal aneurysm 
Page 1 of 3 
6. Which of the following structure passes through the aortic hiatus of diaphragm?

 a.
Thoracic splanchnic nerve


b.
Thoracic duct 

c.
Sympathetic trunk 



d.
Terminal branch of left phrenic nerve

7. The pain from central diaphragmatic pleura and mediastinal pleura is referred to the neck or shoulder through which of the following nerves?

a.
Phrenic nerves (C3, C4, and C5)

b.
Musculocutaneous nerve (C5, C6, and C7)

c.
Suprascapular nerve (C5, C6) 

d.
T6-T12 intercostal nerves.

8. An eighteen year old engineering student received a blow on the lateral aspect of knee and fell on the ground while playing football. He felt sharp pain in the area around knee joint. The radiograph did not show any fracture. MRI findings revealed tear of medial meniscus. Which of the following statement is true regarding medial meniscus? 

a.
Medial meniscus is circular in shape

b.
Attached to popliteus

c.
The medial meniscus is more prone to injury than the lateral meniscus because of its firm fixity to tibial collateral ligament.

d.
The posterior horn of medial meniscus is attached to medial condyle of femur by anterior and posterior meniscofemoral ligament.

9. The structures developed from paramesonephric duct include:

a.
Uterine tubes, uterus and upper part of vagina  b.
 Ureter and urinary bladder

c.
Rectum and Anal canal


    d.
Descending colon and sigmoid colon

10.The superior mesenteric and splenic veins unite together to form portal vein behind which of the following structure?

a.
Right kidney




b.
Neck of pancreas

c.
Pylorus of stomach 



d.
Second part of duodenum

11.  Which of the following correctly describes the development of the lungs, in order?

a.
Pseudoglandular period, Canalicular period, Terminal sac period, Alveolar period

b.
Canalicular period, Pseudoglandular period, Terminal sac period, alveolar period

c.
Alveolar period, Pseudoglandular period, Canalicular period, Terminal sac period

d.
Pseudoglandular period, Terminal sac period, Alveolar period, Canalicular period

12. A patient is complaining of severe pain in right side of abdomen and it is radiating from loin to groin. What is the most likely diagnosis?

a.
Ureteric stone 




b.
Cholecystistis 

c.
Pancreatitis 




d.
Appendicitis. 

13. A 28 year old school teacher wearing high heels stumbled while walking on an uneven road and sustained inversion injury at ankle. Which ligament is mostly damaged in the injuries of ankle joint?

a.
Anterior tibiofibular ligament


b.
Calcaneofibular ligament 

c.
Spring ligament



d.
Deltoid ligament 

14. In males, the superficial perineal pouch contains which of the following structures?

a. 
Prostate




b.
Seminal vesicles 

c.
Deep transverse perinei
     
d.
Root of penis made up of two corpora cavernosa and one corpus spongiosum

15. A young patient met with an accident and came to OPD with complaints of pain and inability to dorsiflex the ankle and foot. On examination, the orthopaedician observed that there was weakness in long extensors of the foot and ankle including tibialis anterior. X-ray examination revealed that there was fracture neck of fibula. Which of the following nerves is most likely damaged?

a.
Common peroneal nerve


b.
 Sciatic nerve

c.
Sural nerve




d.
Femoral nerve 
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16. A 30-year old female came to paediatric OPD with her new born child. She complained that the child is vomiting milk after every feed. The baby had not passed flatus or faeces. What do you think is the possible cause?

a.
Pyloric stenosis



b.
Tracheoesophageal fistula 

c.
Nasal stenosis 




d.
Tongue tie. 

17. A patient came to emergency with acute pain at the level of epigastrium. Radiological picture revealed air inside the abdominal cavity. Which of the following organs may be involved, perforated?

a.
Liver





b.
Pancreas 

c.
Stomach 




d.
Sigmoid colon

18.
Which of the following arteries supply the ascending colon?

a.
Inferior pancreaticoduodenal 


b.
Superior mesenteric artery 

c.
Inferior mesenteric artery 


d.
Inferior phrenic artery 

19.  A child is born at home without difficulty. Two weeks later, the mother takes the infant to her doctor, reporting that he “turns blue” when he cries. Physical examination reveals the infant is cyanotic and has a distinct systolic heart murmur. The physician suspects the baby has a tetralogy of Fallot (TOF). Which of the following conditions is a component of this syndrome?

a.
Transposition of the great vessels

b.
Hypertrophy of the left ventricle

c.
Interatrial septal defect


d.
Pulmonary stenosis

20.  Which of the following statement is true regarding Goblet cells?

a. Goblet cells are found throughout the gastrointestinal tract 

b. Goblet cells are serous secreting cells.


c. Goblet cells are mucous secreting cells.

d. The apical part of goblet cell appears dark in routine haematoxylin and eosin staining.

Q.2.
Describe ‘Ankle Joint’ under the following headings:



[2+3+5+2]


a.
Type and articular surfaces


b.
Ligaments

c.
Movements and muscles responsible for these movements

d.
Applied anatomy

Q.3.
Write short notes on:-







[5x4]


a.
Typical intercostal space

b.
Formation and tributaries of portal vein

c.
Parts and relations of pancreas
d.
Primitive streak
Q.4.
Explain the anatomical/embryological basis of:-




[3x5]


a.
McBurney’s point and its relevance
b.
Azygos lobe

c.
Waddling gait



d.
PV examination

e.
Patent ductus arteriosus
Q.5.
Discuss briefly the applied aspect of:-





[6x3]


a.
Injury to deep peroneal nerve

b.
Coarctation of aorta

c.
Karyotyping
Q.6.
a. Draw well labelled diagram of:






[5x2]



i.
Microanatomy of ureter
ii.
Microanatomy of lymph node

b.
Explain the methods for the preservation of cadavers.



[5]
-------------------
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[1x20]

1.
An intern posted in the family planning unit is asked to assist in a sterilization procedure for a 40-year old man. Which portion of the semen conveying duct is to be excised and sealed bilaterally?

a.
Epididymis 



b.
Seminal gland duct 

c.
Vas deferens 



d.
Wolffian duct

2.
A direct stimulatory effect of plasma electrolytes on the aldosterone secretion from adrenal cortex was being studied. A rise in plasma levels of which of the following electrolytes will do so?

a.
Calcium 



b.
Potassium 

c.
Chloride 



d.
Sodium

3.
A child looking at a distant object at 12 feet and shifts his gaze to an object placed at 2.5 feet. what changes are likely to occur   to ciliary muscles, shape of the lens, visual axes, pupillary size? 

	
	Change to ciliary muscles
	Change to shape of lens
	Change in Visual Axes 
	Change in pupil size

	A
	Contract
	Bulges
	Converge 
	constrict

	B
	Contract 
	Flattens
	Converge
	Dilate

	C
	Contract 
	No Change
	Converge
	Dilate 

	D
	Relax 
	Bulges
	Converge
	Constrict


4.
Tapping the patellar tendon in a patient elicited the knee jerk, which is a stretch reflex. Compared to a monosynaptic reflex arc, a polysynaptic reflex arc includes which of the following? 

a.
Afferent neuron 


b.
Efferent neuron

c.
Interneuron 



d.
A white matter synapse

5.
During a clinical examination a medical student is asked to test for sensation of taste. Which three cranial nerves are responsible for transmitting impulses for the sense of taste to the brainstem? 

a.
Accessory, olfactory, glossopharyngeal      b.
Facial, glossopharyngeal, vagus 

c.
Glossopharyngeal, hypoglossal, accessory d.

Hypoglossal, facial, olfactory 

6. A 60-year old man develops a thrombosis of a cerebral blood vessel following which he develops slow speech and difficulty in generating verbal or written words, and he is limited to two or three words to express the whole range of meaning and emotion. What is the likely area of the lesion?

a.
Wernicke area



b.
Broca area 

c.
Angular Gyrus



d.
Arcuate fasciculus 

7.
A 19 year-old girl complained of ear pain due to an inflammation and build-up of fluid in the middle ear and was diagnosed with a middle ear infection. The middle ear contains 

a.
The membranous labyrinth containing endolymph. 

b.
The bony labyrinth containing perilymph fluid.

c.
cochlear hair cells that mediate hearing. 

d.
The auditory ossicles and the tensor tympani and stapedius muscles.
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8.
During a lecture session of medical students, the teacher explains to them synaptic plasticity. The plastic changes include all EXCEPT 

a.
Habituation



b.
Long term Potentiation 

c.
Long Term Depression 

d.
Pre-tetanic potentiation 

9. A 45 year old presents with signs and symptoms of cerebellar lesions. Of the following which is NOT a feature of Cerebellar disorder?

a.
Dysdiadochokinesia


b.
Ataxia

c.
Intention tremors


d.
Hypertonia

10. During a meeting the Executive picks up a cup of tea and sips the tea. Match the Control of voluntary movement with the areas :

	Area 
	Function 

	1.   cortical association areas 
	a.  Motor commands

	2. The cortex, basal ganglia, and cerebellum work 
	b.  Adjust and smoothen movement

	3. corticospinal tracts and corticobulbar tracts relay to motor neurons 
	c.   Commands originate

	4. cerebellum feedback
	d.   plan movements.


a.
1-a,2-b,3-c,4-d



b.
1-c,2-d,3-a,4-b

c.
1-a,2-c,3-b,4-d



d.
1-d,2-b,3-c,4-a

11. A researcher working in the area of body is interested in measurement of the body fluid volumes for which different indicators are to be used. Match the volume to be measured to the indicator to be used :

	Volume 
	Indicators 

	1.    Total Body water 
	a.     Radioactive chromium

	2.    Extra cellular fluid 
	b.     Deuterium

	3.    Plasma volume 
	c.     Radioactive sodium

	4.    Blood volume 
	d.     Evans blue


a.
1-b,2-c,3-d,4-a



b.
1-a,2-c,3-d,4-b

c.
1-b,2-d,3-c,4-a



d.
1-a,2-b,3-c,4-d

12. A research student is presented with two of body fluid samples marked A & B. He measures the electrolytes in both the samples and finds that Sample B has small quantities of Sodium, chloride ions and no calcium ions. However, it has large amounts of potassium and phosphate as compared to Sample A. Sample B is most likely to be:

a.
Extracellular Fluid


b.
Intra cellular fluid 

c.
Plasma 



d.
Interstitial fluid 
13.  A 25 year old woman is admitted in labour unit with early labour pain. The cramping pain in early  labour is caused mainly by:


a.
Compression of blood vessels by cervical stretching


b.
Compression of blood vessels by perineal stretching


c.
Stretching or tearing of structures in vaginal canal 


d.
Hypoxia of the uterine muscle resulting from compression of the blood vessels in the uterus
14. A mother breast feeds her infant. Suckling reflex produced when she feeds her infant:

a.
Has afferent hormonal and efferent neuronal components 

b.
Has afferent neuronal and efferent hormonal components

c.
Stimulates the secretion of gonadotropins

d.
Reduces prolactin and oxytocin secretion 

15. In a patient of hyperaldosteronism when the ECF expansion passes a certain point, Na+ excretion is usually increased in spite of the continued action of mineralocorticoids on the renal tubules and no edema is produced. This phenomenon is probably due to 

a.
Endothelin



b.
Nitric oxide

c.
Atrial natriuretic peptide 

d.
Renin 
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16. A young man touches the dead body of his friend and is shocked to find that the body is stiff and rigid. This state is called ‘rigor mortis’.  All are true about rigor mortis EXCEPT 

a.
Muscle fibers are completely depleted of ATP and phosphoryl creatine.

b.
Almost all of the myosin heads attach to actin but in an abnormal, fixed way.

c.
The muscles effectively are locked into place 

d.
After 5 hours, proteolytic enzymes released from lysosomes break down actin and myosin

17. A PhD scholar is introduced to the patch clamp technique in a neurophysiology laboratory.  She is trained to monitor membrane potential and channel function. She records the ionic fluxes during an action potential. Which of the following ionic changes is correctly matched with a component of the action potential?

a.
Opening of voltage-gated K+ channels: After-hyperpolarization

b.
A decrease in extracellular Ca2+: Repolarization

c.
Opening of voltage-gated Na+ channels: Depolarization 

d.
Rapid closure of voltage-gated Na+ channels: Resting membrane potential 

18. A  18 year old individual presents  with male characteristics; male genitalia & mental retardation. On further follow up he is found to be having   abnormal seminiferous tubules  His chromosomal pattern will be 

a.
XO



b.
YO


c.
XXX



d.
XXY

19. On examination of a one  day-old infant born at term, the paediatrician hears the murmur of a patent ductus arteriosus.  After what timeframe   is the ductus arteriosus expected to be functionally closed? 

a.
1–5 minutes

 
b.
1–5 hours 

c.
 1–8days


d.
1–8 weeks

20. A 17-year-old boy with a history of type 1 diabetes mellitus is admitted to the hospital with diarrhoea for the past 15 hours. His respiratory rate is 30/min and blood pressure is 90/60 mm Hg, serum glucose concentration is 350 mg/ dL and arterial pH is 7.20. Which of the following is the most likely additional finding in this patient? 

a. 
Decreased serum osmolality 

b.
Increased arterial PCO2 

c.
Increased renal net acid secretion
d.
 Decreased adrenal aldosterone

Q.2.
Write about the classification of receptors. Name the types. Write about the properties of receptors.








[4+4+4]

Q.3.
Write short notes on:-







[5x4]


a.
Write about functions of catecholamines in different organs

b.
Describe functions of thyroid stimulating hormone

c.
Role of middle ear in hearing

d.
Negative feedback mechanism and its use
Q.4.
Explain why:-








[3x5]


a.
Muscle relaxation is an active process

b.
Osmolality is different from osmolarity of a solution

c.
Parathyroid glands are essential for life

d.
Hypertonia occurs in Upper Motor Neuron(UMN) lesion

e.
Field of vision is affected by wearing spectacles
Q.5.
Short notes on(applied aspect):-





[6x3]


a.
Enumerate functions of thalamus and discuss about them

b.
Write about the latch bridge mechanism in maintaining smooth muscle contraction

c.
Describe the physiological basis of pregnancy diagnostic tests
Q.6.
Short notes:-








[5x3]


a.
Write about true hermaphroditism

b.
Describe regulation of aldosterone secretion
c.
Write about what patients would expect from a responsible doctor
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[1x20]

1.
A young adult diagnosed with a space occupying lesion in the brain (a tumour) . He was brought to emergency in an unconscious state and had signs of raised intracranial tension. He is expected to have all the findings EXCEPT 

a.
Tachycardia



b.
Hypertension

c.
Bradycardia



d.
Irregular breathing 

2.
A 60 year old male has blood pressure reading of 160/100 mm of Hg..His Mean arterial blood pressure is approximately in mm of Hg

a.
60




b.
120 

c.
90




d.
100

3.
A healthy person doing moderate isotonic exercise has a high ejection fraction. Which of the following explains this change?  

a.
Fick’s principle 


b.
Autoregulation  

c.
Frank-Starling Law 


d.
Cushing’s reflex

4
A 65 year old man is suffering from hypertension and atherosclerosis. Due to atherosclerosis his coronary vessel diameter reduced to 50%. Calculate the change of resistance in a vessel the coronary vessel:

a.
16 times 



b.
8 times 

c.
4 times




d.
2 times

5.
For any given molecular radius of a substance,in the glomerulus 

a.
cationic molecules are less readily filtered than anionic molecules.

b.
cationic molecules are as readily filtered as anionic molecules.

c.
cationic molecules are more readily filtered than anionic molecules

d.
presence of cationic or anionic charge on molecules does not affect their  filtration

6.
Any substance that is freely filtered in the kidney and whose clearance is less than Inulin, it implies 

a.
There is net reabsorption of the substance in the tubules

b.
There is net secretion of substance in the tubules

c.
The substance is neither secreted nor reabsorbed in the tubules

d.
The substance get bound to the proteins in the tubules
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7.
A 60-year-old female of chronic kidney disease is expected to have all of these features except 

a.
Anemia



b.
Hypoparathyroidism

c.
Anorexia



d.
Mental deterioration

8.
Ventilation perfusion ratio varies in different regions of lungs due to effect of gravity. The part of lung which adds towards physiological dead space in relation to ventilation perfusion ratio

a.
Upper part of lung


b.
Lower part of lung

c.
Middle part of lung


d.
Uniform through out the lung

9.
In reference to pressure volume changes in lungs during various phases of respiration, which of the following is true during inspiration? 

a.
Intrapleural pressure is positive 



b.
The volume in the lungs is less than the functional residual capacity (FRC) 

c.
Alveolar pressure equals atmospheric pressure 

d.
Intrapleural pressure is more negative than it is during expiration

10.
According to Haldane, oxygenation of Hb produces following effect in the respiratory dynamics.  

a.
shifts the CO2 dissociation curve to the right and facilitates unloading of CO2

b.
shifts the CO2 dissociation curve to the left and facilitates unloading of CO2

c.
increases the affinity of CO2 for Hb

d.
Has no affect on the affinity of Hb for CO2

11.
After injury to a blood vessel,which of the following is not required for hemostasis?

a.
Collagen



b.
Nitric oxide

c.
Platelets   



d.
5- Hydroxytryptamine
12.
In solid organ transplants, which antigens must be matched optimally between donors and recipients?

a.
Class I and Class II HLA antigens and ABO antigens                  
b.
Class I HLA antigens only

c.
Class II HLA antigens only                          
d.
Class I and Class II HLA antigens only

13
A premature baby after discharge from the hospital was advised for a regular follow up with an ophthalmologist. Over a period of time the ophthalamologist diagnosed that the child has developed Retrolental Fibroplasia. The most probable cause of this condition could be

a.
Oxygen therapy given at the time of birth

b.
Hypoxic damage to the lens which may have occurred at the time of birth

c.
Premature babies usually develop this condition because the retina is not fully developed at birth and gets damaged by light

d.
This could be due to some underlying genetic defect

14
Damage to the sensory fibres of the urinary bladder result in

a.
Automatic bladder


b. Periodic but unannounced bladder emptying

c.
Neurogenic bladder


d.  Overflow incontinence 

15.
A young vegetarian woman with heavy bleeding during menstrual cycles has started complaining of lethargy,tiredness and loss of energy. Her investigations reveal a decrease  in hemoglobin levels and the peripheral smear reveals a typical ‘dimorphic’ picture with both micro and macrocytes in red blood cell population. In most likely hood ,she is suffering from

a.
Iron deficiency anemia

b.
Vitamin B12 deficiency anemia

c.
Thalassaemia



d.
Deficiency of both iron and Vitamin B12 
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16.
An O Rh negative woman  met with an accident and hade to be transfused with O Rh positive blood as O Rh negative blood was not available. Which of the statements is FALSE

a.
She  will not develop severe mismatch blood transfusion reaction this time 

b.
She can  develop mismatch blood transfusion if  later in her life she is again transfused with O Rh positive blood  

c.
If she gets pregnant with Rh  Positive child , the child can develop erythroblastosis fetalis

d.
Outcome of her pregnancy will not be affected by the Rh status of the child 

17.
The best test/tests  to assess the function of the platelets is 

a.
Clotting time



b.
Bleeding time

c.
Clot retraction time


d.
Both bleeding and clotting time 

18.
A patient with iron deficiency anemia is prescribed oral iron therapy. Oral iron therapy to correct iron deficiency and replenish iron stores in the body should be given minimum for 

a.
6 months



b.
12 months 

c.
18 months



d.
24 months 

19.
An olympic athlete participating in 100 metres sprint mainly utilizes energy provided by the

a.
The Phosphagen energy system 
b.
Aerobic energy system

c.
Glycogen-lactic acid system

d.
Preformed ATP stored in the cell

20.
Carbon monoxide poisoning is a common occurrence in winters in residents at high hills using coal furnaces for heating their rooms. Carbon Monoxide transfer across the respiratory membrane follows


a.
Perfusion limited gas transfer

b.
Diffusion limited gas transfer

c.
Does not follow any of the above
d.
Both perfusion and diffusion limited

Q.2.
Write briefly about the factors affecting blood pressure. Discuss short term regulation of blood pressure. Add a note on essential hypertension.




[4+5+3]

Q.3.
Write short notes on:-







[5x4]


a.
Haemostasis

b.
Lung compliance

c.
Counter current mechanism in kidney

d.
Phases of gastrointestinal secretions
Q.4.
Explain why:-








[3x5]


a.
All ECG waves are negative in aVR lead.

b.
Steatorrhora occurs in obstructive jaundice

c.
Oedema occurs in nephrotic syndrome
d.
Streptokinase is given in early part of onset of infarction
e.
Chokes and bends occur in decompression sickness.
Q.5.
Short notes on(applied aspect):-






[6x3]

a.
Hypoxia

b.
Megaloblastic anemia

c.
Renin-Angiotesin-Aldosterone system
Q.6.
Short notes on:-








[5x3]


a.
Cardio-respiratory changes in exercise
b.
Enterohepatic circulation
c.
Enumerate and describe professional qualities and role of a physician
-------------------
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[1x20]

1.
A 10-year-old boy rapidly develops hypoglycemia after moderate activity. Blood examination reveals raised levels of ketone bodies, lactic acid and triglyceride. On Examination, liver and kidney were enlarged. Histopathology of liver shows deposits of glycogen in excess amount. Identify the most probable diagnosis.   

a.
Von Gierke’s Disease


b.
Cori’s disease

c.
Hydroxyproline


d.
Hydroxylysine

2.
Unpleasant odors and taste in a fat (rancidity) can be delayed or prevented by the addition of:

a.
Lead




b.
Tocopherol 

c.
Copper




d.
Ergosterol

3.
All of the following are the uncouplers of the oxidative phosphorylation EXCEPT

a.
Cyanide



b.
2,4 dinitrophenol

c.
Thyroxine



d.
Thermogenin

4.
Enzymes with cooperative binding of the substrate shows:

a.
Hyperbola curve


b.
Monomeric enzyme

c.
Follow routine kinetics




d.
Binding of one subunit increases affinity for next subunit

5.
Carboxylation of clotting factors by Vitamin K is required to be biologically active. Which of the following amino acid is carboxylated?

a.
Glutamate



b.
Histidine

c.
Arginine



d.
Aspartate

6.
Intrinsic factor of Castle, a glycoprotein secreted in the gastric fluid is associated with the trace mineral:

a.
Chromium



b.
Selenium

c.
Zinc




d.
Cobalt

7.
When sucrose is hydrolysed, it forms equimolar quantities of glucose and fructose. The mixture is referred to as “ invert sugar” due to the fact that

a.
The hydrolysis is brought about by invertase

b.
The nonreducing sucrose is converted into reducing mixture

c.
The dextro-rotatary sucrose is changed to levorotatary mixture

d.
The dextro rotation of +66.50 of sucrose is inverted to -66.50
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8.
A patient has normal blood glucose level as estimated by glucose-oxidase peroxidase method, shows positive Benedicts test in urine. Which of the following can be the likely cause?

a.
Fructosemia



b.
Galactosemia

c.
Denaturation of glucose

d.
Faulty tests

9.
Name the enzyme which catalyzes substrate level phosphorylation in glycolysis?

a.
Glyceraldehyde-3-phosphate dehydrogenase

b.
Enolase



c.
Pyruvate kinase

d.
Phosphofructokinase- 1

10.
Lipotropic factors are the substances that mobilizes fat from liver and prevents the occurrence of a fatty liver. An example of such lipotropic factor is:

a.
Arginine



b.
Choline

c.
Tyrosine



d.
Glycine

11.
One of the reaction in the glycolytic pathway is inhibited by fluoride. Which of the following enzyme is involved in that reaction?

a.
Enolase



b.
Hexokinase

c.
Glyceraldehyde-3 phosphate dehydrogenase

d.
Triose phosphate isomerase

12.
Beta oxidation is the major catabolic pathway for saturated fatty acids. The final products formed when fatty acids with odd number of carbon atoms undergo beta oxidation are:

a.
Acetyl CoA and Malonyl CoA
b.
Acetyl CoA and Acetyl CoA

c.
Acetyl CoA and Propionyl CoA
d.
Acetyl CoA and Succinyl CoA

13.
A 7-year boy presents with severe abdominal pain. On examination, he has xanthomas. Blood drawn for investigations has milky appearance of plasma. Which of the following lipoproteins is increased?

a.
Chylomicron



b.
WBCs

c.
Low density lipoprotein

d.
High density lipoprotein

14.
Identify the amino acid that is the precursor for the mediator of allergies and inflammation.

a.
Histidine



b.
Tyrosine

c.
Phenylalanine



d.
Tryptophan

15.
Fatty acid synthase complex exists in dimer form and has seven enzyme subunits. Which of the following is not a component of fatty acid synthase complex?

a.
Keto acyl synthase


b.
Acetyl transacylase

c.
Acetyl CoA carboxylase

d.
Enoyl reductase

16.
A 1- year old child has pellagra like features such as dermatitis and diarrhoea. The parents are asymtomatic. Urine examination shows aminoaciduria and increased excretion of indole compounds. The most likely diagnosis is:

a.
Hartnup’s Disease


b.
Phenylketonuria

c.
Maple syrup urine disease

d.
Alkaptonuria

17.
Thioredoxin reductase regulates the intracellular redox environment by reducing thioredoxin. Which of the following amino acids is a compononent of Thioredoxin reductase?

a.
Selenocysteine



b.
Arginine

c.
Methionine



d.
Homocysteine

18.
Ketogenic amino acids are degraded into the precursors for ketone body synthesis i.e. acetyl-CoA and acetoacetate. Which one of the following is a purely ketogenic amino acid?

a.
Phenylalanine



b.
Aspartate

c.
Leucine



d.
Valine
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19.
Respiratory distress syndrome in premature infants is due to the deficiency of lung surfactant.  This may be due to the deficiency of:

a.
Plasmologens



b.
Phosphatidylethanolamine

c.
Sphingomyelin


d.
Dipalmitoyl lecithin

20.
A patient with type I diabetes mellitus has complains of polyuria, polydipsia and polyphagia. Which of the following is likely to occur in his body?

a.
Glycogenesis in muscle



b.
Increased conversion of fatty acids to acetyl CoA

c.
Increased protein synthesis


d.
Decreased ketone synthesis

Q.2.
A 58 years old male obese subject developed sudden chest pain. ECG at 6 hrs showed changes suggestive of acute MI. His blood sample was collected at 8 hour, 3days and 10 days of onset of chest pain to assay severe myoglobin, aspartate transaminase, trophonin-I and lactate dehydrogenase


a.
How will screen level of those parameters of the patient differ form their reference range at the above mentioned line?

b.
Why are these screen parameters altered in cases of acute MI.

c.
Define diagnostic window of diagnostic marker of a diseae.

d.
Which of the above marker has the widest diagnostic window and which one has the narrowest diagnostic window in AMI
?
 


   [4+3+3+2]

Q.3.
Write short notes on:-







[5x4]


a.
Mutarotation

b.
Essential amino acids

c.
Phospholipids

d.
Importance of HMP shunt
Q.4.
Explain why:-








[3x5]


a.
Vitamin C is required for normal wound healing

b.
Rotenone (fish poison) is fatal “in Vivo”

c.
Pellagra like symptoms in Hartnup’s disease

d.
Gout in Von Gierke’s disease

e.
ORS is given in diarrhoea
Q.5.
Write short notes on (applied aspect):-





[6x3]

a.
Enumerate the disorders associated with aromatic amino acid metabolism. Discuss any one of them in detail.
b.
Enumerate the various lipoproteins. Discuss their interrelations and relation with atherosclerosis.

c.
Discuss the biochemical basis of chronic complications of diabetes mellitis.
Q.6.
Write short notes:-








[5x3]


a.
Discuss briefly the metabolic processes occurring in liver in fasting state

b.
Discuss the biochemical role of Vitamin D.
c.
Enumerate the various professional qualities of a physician. Discuss any one with the help of an example.
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[1x20]

Tick the most appropriate answer:
1.
Insertion or deletion of a base causes
a.
Silent mutation 


b.
Frame shift mutation
c.
Transcription 



d.
Point mutation
2.
All of the following are Antigen Presenting Cells (APC) except:
a.
Macrophages



b.
Dendritic cells
c.
NK cells



d.
T-lymphocytes
3.
Which of the following is the breakdown product of pyrimidine nucleotides:
a.
Urea




b.
Uric acid
c.
Beta- alanine



d.
Allantoin
4.
All of the following statements are true for Sickle cell hemoglobin (HbS), except:
a.
It is due to a point mutation in β-globin

b.
Glutamate is replaced by valine in the β-globin polypeptide chain
c.
Formation of a sticky patch on the surface of HbS

d.
Receptor for sticky patch not present on HbS
5.
The buffering capacity of plasma protein and hemoglobin is mainly due to
a.
Arginine



b.
Histidine
c.
Glycine



d.
Tryptophan
6.
Blue light phototherapy is effective in neonatal jaundice, because-
a.
It increases the resorption of bilirubin from skin

b.
It increases Vitamin D in skin
c.
It increases the excretion of bilirubin metabolites in bile

d.
It reduces the formation of bilirubin
7.
A 72 years old man present to emergency department with fatigue, lethargy and chest pain. He has a history of renal dysfunction and diabetes. An acute MI was ruled out. His ECG shows tall, peaked t-waves. What is the probable diagnosis?
a.
Hypokalemia



b.
Hypermagnesimia
c.
Hypomagnesimia


d.
Hyperkalemia
8.
Features of Chaperones
a.
Unfolding of synthesized proteins

b.
Folding of synthesized proteins 
c.
Does not exhibit ATPase activity

d.
Does not belong to heat shock protein family
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9.
The human body is composed of about

a.
60% water, 15% protein, 15% lipid, 2% carbohydrate, 8% mineral

b.
60% water, 20% protein, 10% lipid, 8% carbohydrate, 2% mineral

c.
60% water, 20% protein, 10% lipid, 2% carbohydrate, 8% mineral

d.
60% water, 8% protein, 10% lipid, 2% carbohydrate, 20% mineral
10.
The Benedict test- blue, green, yellow, orange, red color indicate corresponding percentage of sugar in urine--

a.
NIL, 0.5%, 1%, 1.5%, 2%

b.
NIL, 1%, 2.5%, 3.5%, 4.5%

c.
NIL, 1.5%, 2.5%, 3.5%, 4.5%
d.
d.
NIL, 2.5%, 3.5%, 2.5%, 5.5%

11.
There is heterozygous mutation in the genes for collagen. Skin is hyper extendable with presence of hyper mobile joints. What is the probable disease diagnosis?
a.
Lesch Nyhan syndrome

b.
Ehler Danlos syndrome
c.
Down syndrome


d.
Sickle cell anemia
12.
A 57 years old women presented with chief complaints of fever of 103 degree F, nonproductive cough and dyspnea which has progressed over 1 week. She has anorexia and lost 12 kg over the last 3 months. She complained of several bouts of loose motions in last 3 months. She also told that she used heroin and cocaine I/V few years ago. Pelvic examination was normal except for vaginal candidiasis sputum examination was positive for pneumocystis carinii. What is the probable diagnosis?
a.
DiGeorge Syndrome


b.
AIDS
c.
Agammaglobulinaemia

d.
SCID
13.
Which of the following is the definition of glycemic index?
a.
The decrease in the blood concentration of glucagon after consuming the food compared with an equivalent amount of white bread


b.
The increase in concentration of blood glucose after consuming food
c.
The increase in the blood concentration of glucose after consuming the food compared with an equivalent amount of white bread




d.
The increase in blood concentration of Insulin after consuming food

14.
Following are some of the biochemical findings in an 18 year old boy. What is your probable diagnosis?
	Investigation
	Observed value
	Normal range

	Serum Calcium
	8.0 mg%
	8.4-10.4 mg%

	Serum Inorganic Phosphorous
	1.8 mg%
	3-4.5 mg%

	S. alkaline Phosphate
	70 KA units
	3-13 KA units


a.
Osteomalacia


b.
Rickets

c.
Osteoporosis


d.
Hyperparathyroidism

15.
A 28-year-old insulin dependent diabetic female patient was admitted with complaints of breathlessness and altered sensorium. Her ABG report showed pH: 7.21, pO2: 92 mmHg, pCO2: 35 mmHg, HCO3: 15 mEq/L, sodium: 135 mEq/L, potassium: 4mEq/L & chloride: 101 mEq/L. The acid base disorder is:

a.
Metabolic alkalosis

b.
Metabolic acidosis

c.
Respiratory alkalosis

d.
Respiratory acidosis

16.
A 30-year-old lady presented with Cushing’s syndrome. The screening test for the diagnosis are all except

a.
Mid night plasma cortisol measurement

b.
Over night dexamethasone suppression test

c.
Determination of plasma ACTH levels
d.
24 hour urinary free cortisol excretion measurement 
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17.
An RNA produced from a fragment of DNA has the sequence of UAAGGC. Which of the following sequence of the non-template strand gives rise to this

a.
CGGAAT


b.
UAAGGC

c.
TAAGGC


d.
ATTCCG

18.
Mr X has a +2 urinary protein report in the afternoon. He is asked to repeat the test in the morning where it is negative. The patient is suffering from

a.
Multiple myeloma

b.
Orthostatic proteinuria

c.
Haemoglobinuria

d.
Haematuria

19.
The normal renal threshold for glucose is-----

a.
140 mg- 150 mg%

b.
130 mg- 140 mg%
c.
170 mg- 180 mg%

d.
180 mg- 190 mg%
20.
Vinca alkaloids are useful type of anticancer agents. Which of the following is true about them?

a.
Antimitotic agents- targets the microtubules

b.
Do not cause myelosuppression

c.
Do not cause peripheral neuropathy

d.
Prevents formation of oestrogens

Q.2.
A six year old boy is brought to pediatrics OPD with complaints of pain in the big toe since one day. The mother also complained of frequent head banging with lip chewing. The child was mentally retarded and was not able to speak coherently. On routine investigations, serum uric acid was 8.6 mgldL. Further genetic investigations pointed towards a defect of the purine salvage pathway.








[4x3]


a.
What is the most probable diagnosis in this case? Justify your answer.


b.
What is the biochemical significance of the purine salvage pathway?

c.
What is the most probable cause of mental retardation in this case?

Q.3.
Write short notes on:-







[5x4]

a.
Discuss the causes and compensatory mechanisms in metabolic acidosis

b.
Explain the steps of polymerase chain reaction and enlist any two uses in medicine
c.
Explain regulation of transcription and post transcriptional modifications in eukaryotes

d.
Discuss the utility of different tumour markers in clinical medicine
Q.4.
Explain why:-








[3x5]

a.
Creatinine clearance is a better indicator of glomerular function as compared to urea clearance
b.
Photosensitivity is observed in patients with porphyria cutanea tarda (PCT)  

c.
DNA finger printing is used for paternity testing
d.
Disorders of pyrimidine catabolism do not have serious manifestations

e.
Fiber intake is beneficial for health
Q.5.
Write short notes on:-







[6x3]


a.
Describe the biochemical role and the different sources of trans-fatty acids in diet
b.
Explain the rationale of the various biochemical tests done for the diagnosis of myocardial infarction

c.
Describe the procedure and uses of southern blotting
Q.6.
Write short notes:-








[5x3]


a.
Describe the structure of collagen

b.
Explain the structure and function of IgA
c.
Explain the role of non-verbal gestures in doctor-patient communication
------------------
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